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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know

g d § e o e e ?
) T

(2) ¥

3) ¢

4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

fRasERrims
FUA] T HEI P T s e wl Pdl Yo o O & Eed ST 2 |
FUTI ] ; T & Hg O R 0 R oTd & - W91 & MU W, Tog & MUK OF aut 3 & SR ox |

TRE B & HEE §, J19 &0 0 G § 9 999 9uged 9ol B 994 S
(1) wy [ SR 11 Hf 98 &

(2) & 1 3R 11 S o &

(3) T 961 & A s 11 o B

(4) B UG T AET e I O B

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) mpromptu

(2) inprounptn

(3) inpromputue

(4) mproptune

sEaiE HI fGeH Fasy |

(1) waw

(2) =




(3) W=
(4) e

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |

faftffr f i s A= s S R I S § |
1) =

(2) =

(3) e

(4) EifwE

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontancous

R. Poetry is a spontaneous

S. feelings - emotions
(1) QSRP

(2) RP5Q

(3) QSPR

(4) SQRP

oo B FEEE FH W WS 2
1) f&m

(2) d@m

(3) @<

(4) H

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’

(1) meekness

(2) revenge

(3) frailty

(4) energy

5 el F A A FOE R e A 2
(1) SHUOH

(2) &

(3) "




(4) wdy

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.
(1) He had not left. we would have been forced to evict him

(2) Hadn't he left we would have been forced to eviet hum.
(3) Had he not left. we would have been forced to evict him

(4) He not had left. we would have been forced to evict him.
et oX FET gerd @ wel s s g 7

(1) T F

(2) BEMN &l

(3) =mr # HE

(4) =90 FE=

1[Option ID=31289]
2[Option ID=31290]
3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
FaftiEd # 9 g 919 =1 994 ST |

(1) == 4 ®iy A =1 |

(2) == W By #F F4 |

(3) == 4% ®iy F |

(4) == 9 By 6l B4 |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - "captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

Prafafd & S oo e T8 2 |

1) S

(2) ¥gF

(3) Hsw¥

(4) FeR

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]

Sl. No.10
QBID:15550410




Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective

Fotfa ¥ e e e g A8 ¢ |

(1) & i fosmo &1 vdm Smelt & TE e |
(2) faemol & qigr v § &, 99 MRS e & |
(3) faEiuuli & qerar ¥e ey g F |

(4) ST R % 31 ¥4g § - g9 IR 3 |

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

20§ B YR SRDR o ¢ T 1% GargdR (HgU) & o0 H Mg gu s 2
(1) 91 3FT ATRA

(2) %0 FHERRE

(3) Twg wwl

(4) i T

1[Option ID=31209]
2[Option ID=31210]
3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies. which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below ;
(1) A. B and D only

(2) Cand D only

(3) A. C and D only

(4) B. C and D only

Foffad #F-G0 $ufl 3 ga & # 7 70 adute 513Uy Sutal =it #1 8 B srgy Fmi &1 31 e a9 & men @ wifta o
u?

A. odg sfga fafies

B. g=ig <= sivsqr ftes
C. 97 fem fafies

D. wzsd sftsar fafies

i few Ty fawedt & & T9 TG TR 31 994 DI
(1) FTIA. BIRD




(2) F@@C R D
(3) @A, C IR D

(4) Fa@B, C 3R D

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian
FHAI &1 B AAHY H1 T o

(1) 7% €™

(2) ATy

(3) fdw 3if B

(4) HEEEHE! A% M T

1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414

A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :
(1) Pituitary Gland

(2) Hypothalamus

(3) Pmneal gland

(4) Adrenals

AfeTF & SMyR § fUd U Y o 59 9eR & gerd &1 Sd &1 & o e gis SR e faer @) &1 wwifdd #=al ¢ 95 &1 seoal @

A, Toegedl 99
B. sdideEE
C. tifge 9y
D. tghHa

i few U Aot & § 99 SUGE STR 31 994 DI
(1) FWAA B RD

(2) Hag A R C

(3) FWIA.BIRD

(4) FoT A SRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15
QBID:15550415

‘Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

frefafEa & @ &1 950 R WK B3 ol R aRm e g 7
(1) Hgd

(2) ufvgar 99
(3)




s e s
(4) wiEE T dae

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means 'we great Indian country’,
"oi ka la ju" means 'we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” m this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

U R FE W F

“uo ja ka hu" &1 2pf § 'we great Indian country',
"oi ka la ju" @1 2*f & 'we score good highest'.

"la fu ja ju" #1 3 & "India score the highest"

3R "ju uo na fu" &1 3 § "highest of the country".

1 59 Fe UM # "great” ST HE FE ?
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417

If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A  B" means A is the son of B

How is X related to Z from the given equation ?

X z Y z Z
(1) X is the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X




afs "A@B" T i 2 fF A, B AR
"AfBrwieaf e fF A, BEfUa ©

"Az B'® g EA BHEWER

g Rrmyew F R R X F Z I T aEY T ?

Xz Yz Z

(1) X, ZF G g |
(2) ZXH g |
(3) Z.X®faarg |
(4) Z.XFA@az |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

fFrafafea & & Wes g 8 yerll aeis ol o wa & 7

(1) foy ey e

(2) F qCBASS TS IR WEF

(3) T U9 B HTeA

(4) fay = e

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419

Seven dance students- T, U, V, W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item, a solo ballet. In deciding the order of performance, the instructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third. what 1s the latest position m which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth




R mFamesE - T, U, V. W, X, Y 3R Z - 31 1 o7 & & ik Profost St e oo s 2 s om e sa S wsgfa 30 1 sesm &t
1% U WG &1 & - UF U9 80 & B0 | IR &1 $F i s 99g s w1 By uiaasl 1 aee S sfad # -

. X UEH T1 gE FH W IR 8l § o |

X F Ul 39 9 Ued W SRl T S e |
ATNTARARY 08 $H WU & 50 & |
W F @A S Y 91 Z &Y Ui A1 gl

.U & @3 U5 O1 @30 915 § V #1 IRl &1 =gy |

Wyl - afg U 19 0 W uegfa a1 & @1 Y Sfigan &9 o fd § 9ar g ?
(1) o=

(2) &g

(3) ¥ag

(4) =@

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

L N

Sl. No.20
QBID:15550420

A country has seven major cities - A. B, C, D. E. F and G. Three flights labeled X. Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C. and passes through D only.
Flight Z has its ends at E and G, and passes through F only.
Directly connected cities are those cities between which there 1s no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
1) A
(2) C
3) B
4 D

wmgwmm%‘-A.B. C.D. E. F 3R G. Fafaf@a Frost 1 oo #% 30 57 64 &1 3199 # 5ie+ & g o g% 99+ X, Y. Z
U 5 ;

ISHE X, A 3R C F Figel & 3R F9a B § S [oRdi ¢ |

FIEAY FRUB M CWE R TE Faa D § 5L o 2 |

ISM Z 5 RRE ok G W ¥ oIk U5 Haa F d 51T ot ¢ |

T W3t B G SIS g1 WER A1 o 61 © o did § 98 &1 3oty & [ &g o Wl el & |

PraffEa & 9 21 1 W ofvs g e 9 S IR W B -
1) A

(2 C

3) B

(4 D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676
(2) 476
(3) 578




(4) 576

AUCTION ¥ % Ul &1 fbet v § sqafq fean ot S 2, forad 5w 980 e wmy o 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 5.q. cm. Then volume of cube is...
(1) 289 em?

(2) 4913 cm®

(3) 4931 cm?

(4) 4319 cm®

U 99 &1 J81T 8354 1734 &1 946 2 & 99 &1 amga- feaar g 2

(1) 289 em?

(2) 4913 cm?

(3) 4931 cm®

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If v 1 .then _:<3+3,-2
S 2
(1) -2
4
(2) 2
5
3) 2
4
(4) 2
5
a o, q LA Pey? FewmEmo
y 3 2-y
(1) o
4
(2) L
5
3) 2
4
(4) 4
5

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield ¥ 81 of mterest at 4.5 % per annum of simple interest ?
(1) 4 years
(2) 5 years
(3) 3 years




(4) © years

F 450 F RN & RU4.5% TRl ORI F R T A & EHH F 81 W &34 § feaqn g0g @wFm 2
(1) 4=

(2) 5o

(3) 3=

(4) gaod

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 HHRTE GEAIET @1 3rad 20 ¢ O 994 BIE Ud ged §o1 W91 $1 4 e g 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]

2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1081514841

The solid fossil fuel coal is formed by burning of which of the following ?
(1) Pteridophytes

(2) Algae

(3) Fungi

(4) Bacteria

B9 Wiiared suF Sigdl fhgs Ja- A &8 2
(1) Iswgal

(2) g

(3) BPg

(4) gaifan

1[Option ID=28801]
2[Option ID=28802]
3[Option ID=28803]
4[Option ID=28804]

Sl. No.27
QBID:1081514842

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
assertion-A : Kelp 1s a herbal medicine extracted from brown algae.
Reason-R : Use of kelp causes goitre

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R 1s correct




9 41 Py AU TTE & TP SHFUDYT (Assertion-A) & EU H &4 € 0 U1 IHD BRI (Reason-R) & =9 1
HUPY-A : $eT UD Y <01 ¢ [ord 15 Yare & Ui fparsnane |
BRU-R : Hed & TN I 991 A8 A1 © |

SWRIKT HY & Tl O, - 34U 70 [deeui O 9 Had Sugad SR &1 98- Iy
(1) A SRR I T8 § AR R AT ol AT ©

2) A SRR TGS APTR AT I e S R

() ATEE, AR TR TS &

(4) ATEI R 8. PR TR ®

1[Option ID=28845]
2[Option ID=28846]
3[Option ID=28847]
4[Option ID=28848]

Sl. No.28
QBID:1081514843

Which of the following is an enucleated cell ?

(1) Nerve cell
(2) Red blood corpuscle (RBC)

(3) Cheek cell

(4) White blood corpuscle (WBC)

8 I BH I sipsa iy (SaFaies) BRI 2
(1) il HIfLBT

(2) o T BITRD]

(3) 1d B BIRBT

(4) A o] DILDH

1[Option ID=28889]
2[Option ID=28890]
3[Option ID=28891]
4[Option ID=28892]

Sl. No.29
QBID:1081514844

Given below are two statements:
Statement-I : Placental mammals are considered as true mammals.
Statement-II : Only placental mammals feed their young ones with mother's milk.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Beoth Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-I[ are incorrect
(3) Statement-I is correct but Statement-II is incorrect
(4) Statement-I is incorrect but Statement-II is correct

i pyTfiumu E:

P ; R (Q ) TR Bl Tl YR Ped ¢ |

HYA-I1 : Pad R (Qed) TR 303 T=ii &1 Af &1 gy AT |
JWRIGd HY & AHdid |, Al QU Y fakedl T I Jel IRk I 944 Sifll
(1) BYAI RN IT

(2) HYA.I AR I GHT 3T §

(3) HYF-1 9T §. A Y11 ST ©

(4) HY] I §, A FUA-I TI &

1[Option ID=28933]




2[Option ID=28934]
3[Option ID=28935]
4[Option ID=28936]

Sl. No.30
QBID:1081514845

Which one of the following is under the category of micronutrients?
(1) Potassium

(2) Iron

(3) Nitrogen

(4) Calcium

g0 3 frd asefcue ot gl @ Srar @ |

) grefRmm

(2) T

(3) el

4) SiezrgH

1[Option ID=28977]
2[Option ID=28978]
3[Option ID=28979]
4[Option ID=28980]

Sl. No.31
QBID:1081514846

Which of the blood cells increase during allergy.
(1) Monocytes

(2) Eosinophils

(3) Neutrophils

(4) Platelets

Aol & SR [ TSR & ¥ad SIS 9¢ I 1 & |
(1) HHERS

(2) ARHI

3) clithdl

(4) Wicdey

1[Option ID=29021]
2[Option ID=29022]
3[Option ID=29023]
4[Option ID=29024]

Sl. No.32
QBID:1081514847

Moss plants belong to which category of plants ?
(1) Thallophyta

(2) Bryophyta

(3) Pteridophyta

(4) Gymnosperms

TIY ST Ui ey YUl ¥ [@ S g 2

) daiwrger

(2) SRS

(3) cisimrgel

@ foEremm

1[Option ID=29065]
2[Option ID=29066]
3[Option ID=29067]
4[Option ID=29068]

Sl. No.33
QBID:1081514848




Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : A thick waxy coating is found covering the shoot system of cactus.
Reason-R : Cactus is generally found in desert areas.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R 1s not correct
(4) A is not correct but R is correct

T 31 B 4T TTE & UP SHTUHUT (Assertion-A) F =0 F IREd 8 0 GIRT IUP BRI (Reason-R) =T H
HUBYF-A o Paeg & d-1 § Ub H1H BT 01 IR IS Sl ¢ |

BHRULR «: haey FH-ad: IR g 8 UaTrar g |

SWRIF HUF & AP H, id [eU U [dFedl T T el 3R 1 904 Bl

(1) AJRREHFI ITE SRR A DI Gel IS &

(2) A SRR SHI U8 € dfPTR, AP IS ArET el ©

(3) AFIE. AP R TS

(4) AJTTE. APTRIA S

1[Option ID=29093]
2[Option ID=29094]
3[Option ID=29095]
4[Option ID=29096]

Sl. No.34
QBID:1081514849

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Mushrooms are not considered as plants.
Reason-R : Its cells do not possess cell walls.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R is not correct
(4) A is not correct but R is correct

I 31 B AU TTE & US SHTUHUT (Assertion-A) F =1 F 1REd 8 0 IR IUP BRI (Reason-R)  ETH
HUBYF-A - TR DI diei Bt Jofi T TS F@d & |
PRULR : 55! DIST & it fixdi 781 urg 9t g |

SWRIK HY & i O, - 34U MU fae el O 9 9ad Sugad SR &1 98- Sy
(1) A SRR EH TEI &, AFTR. A T T R

(2) ARRIF T E IFTR AT TS R TS B

(3) ATEIE, AR TSI TSR

(4) ATEI RIS, AR TR ®

1[Option ID=29097]
2[Option ID=29098]
3[Option ID=29099]
4[Option ID=29100]

Sl. No.35
QBID:10815148410




Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Cross breeding of dairy animals inereases the productivity of Milk.
Reason-R : Lactation period of dairy animals can be increased by cross breeding.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 18 NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

T 31 B 4T TTE & UP SHTUHUT (Assertion-A) F =0 F IREd 8 0 GIRT IUP BRI (Reason-R) =T H
HUBYF-A : ST I T 1 ST Y ITP! g & T AT I ACh @ |
HRULR : ST U3 & g4 37 B GHATGY UR o= 9 9e15 ofl 9adi § |

SWRIK HY & i H, HH fau MU fae el O 1 18l 3R &1 997 Sifey
(1) A SRR T E SRR A DI TGSl AT B

(2) A JRREH T E SRR, A DI el A el §

(3) AFI S dfHTR 3T

(4) ASGIE. APTRITR

1[Option ID=28805]

2[Option ID=28806]

3[Option ID=288071]
4[Option ID=28808]

Sl. No.36
QBID:10815148411

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Lizards can regenerate their lost tail.
Reason-R : Lizards have limbs.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 18 NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

I 31 B AU TTE & US SHTUHUT (Assertion-A) F =1 F 1REd 8 0 IR IUP BRI (Reason-R)  ETH
Hftr-A - uwmdt st oot Us R A3 aadi B |
PRULR : [BIBA S EUWRELA S |

SWRIK HY & i O, - 34U MU fae el O 9 9ad Sugad SR &1 98- Sy
(1) A SRR EH TEI &, AFTR. A T T R

(2) ARRIF T E IFTR AT TS R TS B

(3) ATEIE, AR TSI TSR

(4) ATEI RIS, AR TR ®

1[Option ID=28809]
2[Option ID=28810]
3[Option ID=28811]
4[Option ID=28812]

Sl. No.37
QBID:10815148412




Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : In complex tissues more than one type of cell are found.
Reason-R : Vascular tissues in plants are a type of complex tissues.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 18 NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

T 31 B 4T TTE & UP SHTUHUT (Assertion-A) F =0 F IREd 8 0 GIRT IUP BRI (Reason-R) =T H
AHUBYF-A - Ofed Fasb! 1 U ¥ e UHR &1 HIfSHTT urg JAdl € |

PRULR : Tidf T TaTe! Had olfcd Hdbl 1 UH UPR G |

SWRIF HUF & AP H, id [eU U [dFedl T T el 3R 1 904 Bl

(1) AJRREHFI ITE SRR A DI Gel IS &

(2) A SRR EHI 9 8 Afba R A 1 98T I 8l &

(3) AFIE. AP R TS

(4) AJTTE. APTRIA S

1[Option ID=28813]
2[Option ID=28814]
3[Option ID=28815]
4[Option ID=28816]

Sl. No.38
QBID:10815148413

Some of the characteristic features are listed here select those which are displayed by chordates.

A. Ventral heart

B. Post-anal tail absent

C. Notochord absent

D. Central Nervous system is dorsal
E. Gill slits are absent

Choose the correct answer from the options given below :
(1) A.B
2) B.C
3) A.D
4) D.E

Tgl oo faSivdrsil & gt € 7% 1 9t fa=ivard 9-u i B9avs i uoft TeErE gRI HefRid &1 ol § |

A dgaged

B. 7Y a1 T 3R

C. I8y S

D. %14 di-ad] d-d Y¥dTg! gidl 3
E. fiier fog ergufeua

i fGU U faPpedl § ¥ Hal 3TR &1 994 Bifoiu:
1) A.B
(2) B.C
3) A.D
4) D.E

1[Option ID=28817]
2[Option ID=28818]
3[Option ID=28819]
4[Option ID=28820]

Sl. No.39




QBID:10815148414
Poikilotherms are those animals whose body temperature keeps changing with the external environment: Identify the Pikilothermic
animals from the following

A Elephant
B. Shark

C. Whale
D. Frog

E. Rabbit

Choose the correct answer from the options given below :
(1) A.E

(2) A.B.C

3) B.D

4) B.C.D

ORARRYAIE offd 3 B1d § for® TR &1 a9 aTdraRor & a9 & SUR Seadl Yedl § | 590 ¥ uRaurRaanies g &1
qgaH |

N
B. Y%
Cc.®d
D. Hg®
E. G

1 fau ¢ fasedl © 8 Tl SR &1 994 DI
(1) A.E

2) A.B.C

3) B.D

(4) B.C.D

1[Option ID=28821]
2[Option ID=28822]
3[Option ID=28823]
4[Option ID=28824]

Sl. No.40
QBID:10815148415

Given below are two statements:
Statement-I : The same biotic community is found in different parts of a biome.
Statement-II : A biome consists of all different ecosystems of a geographical area.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Beoth Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-I[ are incorrect
(3) Statement-I is correct but Statement-II is incorrect
(4) Statement-I is incorrect but Statement-II is correct

TG HyERTmE:
FUA-1 : T & AT ST fowl H Ud O Sifde SE U I § |
FUAIL : 1V TEH E I U &7 F e aRda g 8 1

SWRIGT HY & Talie O, - 3y U g edi O I 9ad S0gad SR &1 98- Sy
(1) HYFI IR L GH TSl &

(2) FHYF-1 SR 11 &H Tad &

(3) FYA-1981 &, SAfh Y 11 7Tad ©

(4) HUFITTEd ©. AP PUT I T B

1[Option ID=28825]
2[Option ID=28826]




3[Option ID=28827]
4[Option ID=28828]

Sl. No.41
QBID:10815148416

Given below are two statements:
Statement-I : Skin provides innate immunity to the body.
Statement-II : Skin has mucous membrane which does not allow the pathogen to enter our body.

In the light of the above statements. choose the correct answer from the options given below :

(1) Beoth Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

i pyTfiumu E:
BYA-1 : I IR B SR UieRET e Bl ¢ |
FHYA-I1 - 91 H Teret fRreah! urg offell § S tReiial &1 IRR T 32 S el <ol |

SWRIG HY & Tl H, - fau MU fae el O 9 |8l 3R &1 99 Sifely
(1) Y1 AR IS TT

() PHUF-I AR I GHT 3T 8

(3) FHUF-1 T ©. A Y- SRIT ©

(4) FHYA.I 3 §, Ao FYA-I T ©

1[Option ID=28829]
2[Option ID=28830]
3[Option ID=28831]
4[Option ID=28832]

Sl. No.42
QBID:10815148417

Atmosphere consists of

A. Troposphere. ionosphere

B. Troposphere. Lithosphere

C. Lithosphere. Stratosphere. Ionosphere
D. Troposphere. Stratosphere, lonosphere
E. Stratosphere. Ionosphere

Choose the correct answer from the options given below :
(1) Aonly
(2) Donly
(3) Conly
(4) E only

AgHUSE STl B |

A. CIYDIR, OARDIEY

B. QUG IOR, [URwR

C. TP R, WP RR, ST AR
D. TIRH IR, LB R, ATRDTR
E. WCRPIR, SEFRH IR

< fou U fde el § O 9gl 3R &1 944 Sifu:
(1) PHad A
(2) $ada D
(3) had ¢
(4) Had E




1[Option ID=28833]
2[Option ID=28834]
3[Option ID=28835]
4[Option ID=28836]

Sl. No.43
QBID:10815148418

Which of the following organism show budding as a characteristic feature?

A, Paramecium
B. Amoeba
C. Hydra
D. Spirogyra
E. Nostoc
Choose the correct answer from the options given below :
(1) A& B Ounly
(2) B.C & E Oaly
3) C Only
(4) D Ounly
gH I foas oo &1 [a<Ndr UTg i § |
A Gy
B. fHiar
C.glggl
D. 3?" [EE
E. RIS
= feu 0 fasedl © ¥ 9l SugE STk D1 99 B
(1) HATA, B
(2) HOUB.C.E
(3) $adc
(4) $adD

1[Option ID=28837]
2[Option ID=28838]
3[Option ID=28839]
4[Option ID=28840]

Sl. No.44
QBID:10815148419

The main factors responsible for noise pollution are

A. Industries

B. Vehicles

C. Rain

D. Music systems
E. Chemicals

Choose the most appropriate answer from the options given below :
(1) C Only

(2) AB&DOnly

(3) C & D Ounly

(4) D Ounly




1 YT & T BRI S

A, 3RS sREH
B. dlgd

c. asf

D. TIfuie feen

E. 8@ uerd

H1= fGu Tt fasedl § § 9ad Shgad ST &1 99 DI
(1) dgac

(2) AT A.B.D

(3) HgE C. D

(4) Hae D

1[Option ID=28841]
2[Option ID=28842]
3[Option ID=28843]
4[Option ID=28844]

Sl. No.45
QBID:10815148420

Match List-I with List-II

LISTI LISTIT
A |Cedrus I |Ormamental
B. |Taxus II. |Dryfiut
C. |Cycas III.  |Medicine
D |Pinus IV. |Timber

Choose the correct answer from the options given below :
(1) A-L B-II, C-III. D-IV
(2) A-IL B-III, C-IV, D-I
(3) A-IV. B-IL. C-III. D-I
(4) A-IV.B-III C-I. D-II

-1 & 1Y YI-11 DT e Biforg
T I Tt I
A |fyEg L |&eadt
B |¢wg 1 |gd dar
C. |Hg®dd 1. |adl
D |ug v |FErar e
i fGU U faedl O T Te1 SR &1 994 Hifoig:

(1) A-L B-II, C-IIL D-IV
(2) A-II B-IIIL. C-IV. D-I
(3) A-IV. B-IL C-III, D-L
(4) A-IV.B-III, C-I. D-II
1[Option ID=28849]
2[Option ID=28850]

3[Option ID=28851]
4[Option ID=28852]

Sl. No.46
QBID:10815148421




Match List-I with List-II

LISTI LISTIT
&, (SEnodnion I |Hybridization
management ¥
B. Aoy II. |Crop rotation
mprovement
C. Cingjgratccfion III. |Intercropping
management 2
5 - |Control of weeds,
D. |Cropping pattern V. et .

Choose the correct answer from the options given below :
(1) A-II, B-I. C-III, DIV
(2) A-IL B-I C-IV, D-III
(3) A-L B-II C-IV. D-III
(4) A-L B-II, C-III, D-IV

Geil-1 & F1Y GAI-11 BT fEer Siforg
T T T I

HOd JdTGH

Al ﬁf L ssaag:ﬂaq
YA & IR BT

B - I |HOd TP B0

C |PUa@aTFaeE | M |[gewmiT

5 HOdl Bl 3 & i TR qqaR 3R die]
© |G A G

il fau U fasedl © ¥ T8l 3R &1 9494 Difay
(1) A-IIL B-L. C-IIIL. D-IV
(2) A-IL B-I. C-IV. D-III
(3) A-L B-II. C-IV, D-III
(4) A-lL B-II. C-III. D-IV

1[Option ID=28853]
2[Option ID=28854]
3[Option ID=28855]
4[Option ID=28856]

Sl. No.47
QBID:10815148422

Match List-I with List-II

LISTI LISTIT
A |Cholera I  |Fungal
B. |Malaria II. |Bacterial
C. |Filaria 1. |Helminthic
D.  |Athlete foot IV. |Protozoan

Choose the correct answer from the options given below :
(1) A-L B-II. C-IIL. D-IV
(2) A-L B-IIL C-II. D-IV
(3) A-IL B-IV. C-III, D-I
(4) A-IV. B-1. C-III, D-II




-1 & 1Y YI-11 DT e Biforg

T I Tt I
A @R L |BHEEN
B. |mafam G IR AR
C |wEdRar m. |efeygR
D. |uyclie Be IV. [Jiesia grn
i fGU U faedl O T Te1 SR &1 994 Hifoig:

(1) A-L B-II, C-IIL D-IV
(2) A-L. B-III. C-II. D-IV
(3) A-IL. B-IV. C-III, D-L
(4) A-IV.B-l. C-III, D-II
1[Option ID=28857]
2[Option ID=28858]

3[Option ID=28859]
4[Option ID=28860]

Sl. No.48
QBID:10815148423

Egg contains all the nutrients except ?

(1) Avidin

(2) Riboilavin

(3) Carbohydrates

(4) Biotin

S HTTH Y D0 TP PI BIg PR Y T YU T 2
(1) Tdifsa

(2) TeEFIfa

(3) FERIESC

(4) g

1[Option ID=28861]
2[Option ID=28862]
3[Option ID=28863]
4[Option ID=28864]

Sl. No.49
QBID:10815148424

Which of the following 1s not a component of the blood ?
(1) Plasma

(2) Platelets

(3) Stem cell

(4) Erythrocyte

9 & T 1 I R e 4 9=EAd gl § 2
(1) TSl

() Weded

(3) T DHIRDI

(4) SRYUNGEH

1[Option ID=28865]
2[Option ID=28866]
3[Option ID=28867]
4[Option ID=28868]

Sl. No.50
QBID:10815148425

Neural tube defect in new born is due to deficiency of which nutrient ?
(1) Folic acid

(2) Calcium

(3) Vitamin-A

(4) Iron




auTd <] 1 A Aot & T)ie 65 tive dd @ $Hl F RO S € 2
(1) Hifcid TS

) Hicgrm

3 faeriau

(4) g

1[Option ID=28869]
2[Option ID=28870]
3[Option ID=28871]
4[Option ID=28872]

Sl. No.51
QBID:10815148426

Which of the following 1s an example of saturated fatty acids ?
(1) Vegetable oil

(2) Olive oil

(3) Butter

(4) Mustard oil

& @ 3 7 S T 3 B SR | 2

) FFfada

(2) S

(3) HEGA

4) I Prdd

1[Option ID=28873]
2[Option ID=28874]
3[Option ID=28875]
4[Option ID=28876]

Sl. No.52
QBID:10815148427

A long scarf used by Indian women in ancient period to cover the upper part of the body was :
(1) Antariya

(2) Uttariya

(3) Kayabandh

(4) Ushnisa

AT PTel # YR AfGEsT §RI2RR & Sl HFT B G- o oY s oa] Th1d ol
) g

) WY

(3) DY

(4) 3forg

1[Option ID=28877]
2[Option ID=28878]
3[Option ID=28879]
4[Option ID=28880]

Sl. No.53
QBID:10815148428

Homogencous mixtures of two or more than two components are known as :
(1) Sol

(2) Suspension

(3) Solutions

(4) Colloids

&l 3yar g1 ¥ 3fid 3(ggd & GUFT v Hl eI wi g -
(1) g

2 fAdeq

3) faams

(4) Flales




1[Option ID=28881]
2[Option ID=28882]
3[Option ID=28883]
4[Option ID=28884]

Sl. No.54
QBID:10815148429

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R

Assertion-A : The ions of the same charges in Transition metal in a given series show progressive decrease in radius with increasing
atomic numbers,

Reagon-R : The new electron enters a d orbital each time the nuclear charge increase by unity.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correet but R is NOT the correct explanation of A

(3) Ais correct but R is not correct
(4) A 1is not correct but R 1s correct

2 G Py U L §: TP HUBYT (Assertion-A) B FU T 18 € 0 81 TP BRI (Reason-R) & TG T

H¥wY-A - I0ft F 90 U RA HHIS F T1Y TAE AL I a3 B # SR g e e |
HRULR : 79 1 A1t smaw § gfS g1t 3. sifafvead daeH R IR U@ d Siifded § gow i 8 |

SWRIKT PY & ATclie H, - 13U MU [de i & I 9ad Sugad SR &1 98- SIieig
(1) A SRR EH UEE, AMFTR. AT WS SRR §

2 A SRR TGS APTR AT I e S R

() ATEIE, AR TET TS &

(4) AGEEE. PR TS ®

1[Option ID=28885]
2[Option ID=28886]
3[Option ID=288871]
4[Option ID=28888]

Sl. No.55
QBID:10815148430

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : All the members of p-block has the same behaviour.

Reason-R : The effects of small size and high electronegativity is the presence of strong hydrogen bonding in H;O which 1s not found in
H,S

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 18 NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

2 41 U AU TTE §: U AU (Assertion-A) & &0 H fiEd € ol 8T IHP BRI (Reason-R) & Y T
HYBUA-A : -l & gt el & qored TEHE A |

FRULR : BIC PR U1 3o [GGaBUTHB & FHIG & RO H,0 H Had sl5g o 98 &I SURYd & Sl i H,s T 78] U/ ol &
|

IWRIad PYUA & AT |, id G0 70 fmedl I T I5t IR &1 994 Diforg

(1) ASRRIATTAE IRR AT T AT

(2) A SRR I TIE AR R, AP T AT TE &

(3) AGIE. AfPTR TS




(9) A3EUE AfpTR IS

1[Option ID=28893]
2[Option ID=28894]
3[Option ID=28895]
4[Option ID=28896]

Sl. No.56
QBID:10815148431

The conductance of electricity by ions in the solution depends on-

A termed as electronic conductance
B. the nature of the electrolytic added
C. size of the ions produced

D. solution of ions

E. nature of the solvent

Choose the correct answer from the options given below :
1) A.B.C

(2) B.C.D

3) B.C.D

@) A.B.C.D

faera & Suiyd smoHl & SR [aggd Fraddl R Sl g

A P AIAF ITadd Fed &

B. TN 70 dggd suHed &l Uahid
C. 3T AT DT HPR

D. H1A! &1 faea

E. fquma® &1 uaid

= feu ¢ faeedl © ¥ Tl 3Tk & 994 DIy
(1) A.B.C

(2) B.C.D

(3) B.C.D

(4) A.B.C.D

1[Option ID=28897]
2[Option ID=28898]
3[Option ID=28899]
4[Option ID=28900]

Sl. No.57
QBID:10815148432

Given below are two statements:
Statement-I : The vapour pressure of non-ideal solution is either higher or lower than that predicted by Raoult's law.

Statement-II : In ideal solutions. the enthalpy of the mixing of the pure components to form solution is zero and the volume of mixing is
zero,
In the light of the above statements. choose the most appropriate answer from the options given below

(1) Beoth Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-I[ are incorrect
(3) Statement-I is correct but Statement-II is incorrect
(4) Statement-I is incorrect but Statement-II is correct

4 3 Py Ry Mu &
FUA-] : SGE [T BT aTIGIE AT B H9H GRI UFIET (predict) [T 70 183 1@ § A1 ot Sifde glaT 8 A1 959 |

gu:{-n . 31l fawra= 8 fyor a9 & o g siaudl o1 ffid o3 = By a9 &1 tdeh givacdd aur smad= gikacd g gidl
|

SR DY o TP H, A fEU 70 fasedl # ¥ Tad Suga IR &1 98- Bifoly
(1) HYFI AR I SH T8l &




(2) G-I 3R 11 G Terd ©
(3) HYF-19e! 8, A HYA-117Tdd &
(4) HY-1 794 &, A HY-11 Tel o

1[Option ID=28901]
2[Option ID=28902]
3[Option ID=28903]
4[Option ID=28904]

Sl. No.58
QBID:10815148433

Order of reaction can

A. not have zero molecularity

B. have meaning for complex reaction

C. not have molecularity as same order of the over all reaction
D. only be applied for complex reaction

E. be the speedy for the complex reaction

Choose the most appropriate answer from the options given below:
(1) AOnly

(2) C Only

(3) B and D Only

(4) E Only

ftifepar &t dife # -

A, 3M1fugedl Y 8l g 9l |

B. Tfeq UBR @ ifferarafl )R I g1 g § |

c. 3nfPaaan wrgut sifirfeea & $ife & T =8l gt |
D. Had dlied HThara & fou AR garg |

E. Sifed sififeran dig i g § |

A9 fGu Tt o el § § 9ad Shgad ST &1 99 SIfAT:
(1) Pad A

(2) Fadc

(3) FEaD AR B

(4) HIAE

1[Option ID=28905]
2[Option ID=28906]
3[Option ID=28907]
4[Option ID=28908]

Sl. No.59
QBID:10815148434
Given below are two statements :
Statement-I : The transition element has the great variety of oxidation state it may show in its compounds.

Statement-II : The transition elements which give the greatest number of oxidation states occur in or near the middle of series.

In the light of the above statements. choose the correct answer from the options given below :

(1) Beoth Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

9 A P TS

HU1 : GV ded] §RT AT & g e aRiTd G2iE o € |

BYA-II ; e G B aiicpur Rl G2t ardl dcd Hshaur 4uft & e & g1 58 e R E |
JRIGd B & Tt 1, - 3u U fawed I O Ot W &1 999 i




(1) ey.1 SR I EFT T &

(2 FYAI MR I GH A &

(3) Y1 9T €, A HYA-I ITT ©
(4) DY I &, A pYA-11 9T &

1[Option ID=28909]
2[Option ID=28910]
3[Option ID=28911]
4[Option ID=28912]

Sl. No.60
QBID:10815148435

Given below are two statements:
Statement-I : The boiling points of organchalogen compounds are comparatively lower than the corresponding hydrocarbons.
Statement-II : The organchalogen compounds are slightly soluble in water but completely soluble in organic solvents.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true
(2) Beoth Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

ey RUUE

FYA-1: DlaTeard RIS b HYAD IITd FIESIPIa- B a8 HAIS g & |
BYIL : Ble-Tealor wd § 31ed (907 Reg e fGams! 8 gl ffag gd € |
SWRIdd HYH & 3Tl 1, Fid 30 MU fdeedl T T e SR &1 904 Hifelg

(1) BYI IR IA

(2) HYF.I AR I GHT 3T &

(3) FYF-1 TA B, A YA-I 3T ©

(4) Y1 3T, AT Y1 TT ©

1[Option ID=28913]
2[Option ID=28914]
3[Option ID=28915]
4[Option ID=28916]

Sl. No.61
QBID:10815148436

The chemical reaction of alcohols and phenols characterize :

A react with active metals do vield corresponding alkoxides and Hydrogen
B. to retain a profon to a stronger base

C. the basicity due to dipolar nature of OH bond

D. as weaker base than water

E. better proton donor than water

Choose the correct answer from the options given below :
(1) AOQnly

(2) B Only

(3) C Only

(4) D and E Ounly




Uehlgid Ud Bi-Td o1 I foearsi of fagmari € |

A. Tihd 1gaf & T SHHThAIN B W Ted 9915 S Ud §I5SIa ad
B. fordll Uae &R & fog e 3@ar |

C. &RIY U7 fggdig 0-H SieY & HRUI Bl G |

D. 90 4 HHUR ARG ORI |

E. 50 I 98R Wil Ve 3R I@di |

i feu U [ el § ¥ Hel 3R &1 99 Bifely
(1) FITA

(2) FHgaB

(3) FHadC

(4) PTAE HRD

1[Option ID=28917]
2[Option ID=28918]
3[Option ID=28919]
4[Option ID=28920]

Sl. No.62
QBID:10815148437

Match List-I with List-II

List-T List-I1
1. Hard but malleable and
ductile

IA. Non-polar molecular solids

B. Hydrogen bounded molecular I Soft

solids
C. Ionic solids I1I. Hard
D. Metallic solids IV. Hard but brittle

Choose the correct answer from the options given below :
(1) A-IV, B-II, C-I. D-III
(2) A-II B-II. C-I, D-IV
(3) A-IL B-III, C-IV, D-I
(4) A-L B-IV. C-III, D-II

FEI-1 & 1Y JHI-11 DT e Biforg

T 1 et 11

A |oydiaftam ey | L Wﬁﬁm

B. %53!3‘ e 1L |gamE

C. |RMH® 3 I |[®8R
D. |sfe® 3 IV @8R IR WX
1 fau 7w fas el § € Hel SR &1 994 Dify

(1) A-IV. B-II. C-I. D-III
(2) A-IIL B-II. C-L. D-IV
(3) A-IIL B-III. C-IV. D-I
(4) A-I. B-IV. C-III. D-IT
1[Option ID=28921]
2[Option ID=28922]

3[Option ID=28923]
4[Option ID=28924]

Sl. No.63
QBID:10815148438

The IUPAC name of Methyl isopropyl ether is :
(1) 3-methylbutoxybenzene

(2) 1-phenoxyheptane

(3) 2-methoxypropane




(4) Ethoxyethane

STZATIYTZE SUR Bl TUPAC 19 &
@ 3T SRR

2) 1Bl 8P

@) 2 BorRii

4) YTz

1[Option ID=28925]
2[Option ID=28926]
3[Option ID=28927]
4[Option ID=28928]

Sl. No.64
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The two main compounds of computer are
(1) Control Unit + ALU
(2) ALU+BUS
(3) CU + Register
(4) Register + ROM
T & & He@qul ST e & -
) FEEAgER+ 1T
(2) T g+aLg0a.
(3) a0 5T + IR
4) IR+
1[Option ID=28929]
2[Option ID=28930]

3[Option ID=28931]
4[Option ID=28932]

Sl. No.65
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What is the full form of HTTP ?
(1) Hyper Transfer Text Protocol

(2) Hyper Text Transfer Protocol
(3) Hyper Transfer Text Program

(4) Hyper Text Transfer Program
HTTP &1 1 =Y 1§ ?
(1) TIEWR B ¢ Uicdld

(2) BISWR CHIC CHR HICidId

(3) BIZW CHHR T WU

(4) BISWR CHIC TR WU

1[Option ID=28937]
2[Option ID=28938]
3[Option ID=28939]
4[Option ID=28940]

Sl. No.66
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Computer Language is based on :

(1) Symbol System

(2) Number System

(3) Series System

(4) All the above

GO T UTHT 555 TR e Bielt 8 -
(1) Ycilh YOITell TR

) 3o Yol 1Y




(3) SR HOTeil IR
(4) IqRIad 9yl IR

1[Option ID=28941]
2[Option ID=28942]
3[Option ID=28943]
4[Option ID=28944]

Sl. No.67
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : CPU is the brain of the Computer.
Reason-R : CPU executes the programs and control operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

< 31 B 4T U & U@ @YU (Assertion-A) & &0 1 RGd § A GERT1 3UP DRI (Reason-R) S &I H
HwYA-A : IR g, B W0 1 AT T |
BRULR : .97, 701 & T Sl 1 e Ud Haa0 sl g |

SWRIad PUF T a® 1, A fau 7 fawed § O 96 S0 &1 994 iforg
(1) A3RRIH TTE AR R AT T ARAT

(2) ARRIFTTE IRR AT T AT §

(3) ATIE. AFTR AT

4) ASTIE. APTIRTAR

1[Option ID=28945]
2[Option ID=28946]
3[Option ID=28947]
4[Option ID=28948]

Sl. No.68
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Given below are two statements:
Statement-I : Written communication strategy in computers involves Algorithms.
Statement-II : Written comumunication strategy in computers involves Decision-making.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-II are incorrect
(3) Statement-I is correct but Statement-II is incorrect
(4) Statement-I 15 incorrect but Statement-II 1s correct

EIERA R AIC AL e
HYA-1 : Torep H ffaa gowor fafé 3 vty S9e U 3R |
DY-11 : ol &1 Erure & ferfaa dsiwur fafd o1 uw e g |

SR DY & STl H, A fU 70 fasedl H ¥ Tad SUg IR &1 94 Bifoiy

(1) Y1 IR 1 SHI TET 8
(2) HYA-1 3R 1 A Tad &
(3) HYF-1Tel 5. A HYF-11 Tad &
) FHY.1 TAd &, AP FY-I TE §




1[Option ID=28949]
2[Option ID=28950]
3[Option ID=28951]
4[Option ID=28952]

Sl. No.69
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Given below are two statements:
Statement-I : jpg is a graphic file
Statement-II : .ttf is a word-text file

In the light of the above statements. choose the correct answer from the options given below :

(1) Beoth Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

T A FE RS

PYA-1: jpg TP AP PR B |

BUL : .1t U T8 -CoRE DTS © |

SWRIK PY & 3fTclie H, - AU MY [aw el & I Had Iugad IR &1 99 DIy
(1) HYA] IR HYA1 S TA B

(2) HYA-1 AR HYA-I GF1 A &

(3) FHYA.1TF ¢, AT HYA-I 3T ©
(4) HYI 3T 8. Wb PUF-I TA S

1[Option ID=28953]
2[Option ID=28954]
3[Option ID=28955]
4[Option ID=28956]

Sl. No.70
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Given below are two statements :
Statement-I : Libre office is not a word processor.
Statement-I : Text can be edited using Libre office.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Beoth Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

TR HyTfRumE:

BYF-L : AR SHBH P IS W 61 © |

PHYA-11 : AEER BT & HA1eOH F Toe BT YUl (b1 off 9hdl © |
JWRId] Y & Hdi 1, Fid ST T f[dbedi T I Tel IR &1 99 Difog:
(1) BYAI 3R PYA-11 G A ©

(2) HYFI 3R HYF-11 SHI T §

(3) HYF-1 9 §. Ao Y11 3T ©

(4) HYF-I AT &, AP PYF-I I &

1[Option ID=28957]
2[Option ID=28958]




3[Option ID=28959]
4[Option ID=28960]

Sl. No.71
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A Barcode has 13 digits

B. Barcode has 05 divisions

C. Manufacturing division of Barcode has 05 digits
D. Barcode has 04 divisions

E. Country division of Barcode has 02 digits

Choose the correct answer from the options given below :
(1) A.B.C.D Only
(2) A.B.D.E Ounly
(3) A.C.D.E Ounly
(4) A.B.C.E Only
A SRPISY 13 HFAE |
B. R®IS & 05 YFTEA T |
C. SRPIS & Al 4T & 05 P TR T |

D. RGBS & 04 IS |
ESRGISH AT U H 02 3P & |

2 fau e fawed! 7 ¥ Hel SR BT gH1d H
(1) HFAA, B, C AR D
(2) HITA.B.D ARE

(3) $ATA.C.DIRE
(4) $GAA.B.C.E

1[Option ID=28961]
2[Option ID=28962]
3[Option ID=28963]
4[Option ID=28964]

Sl. No.72
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Given below are two statements:
Statement-I : Graphene is a new substitute for silicon
Statement-II : Graphene processing is slower than carbon nano-tubes

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-II are incorrect
(3) Statement-I 15 correct but Statement-II is incorrect
(4) Statement-I is incorrect but Statement-II is correct

EIE A AIC AL g
DYF-1 - JB I e’ &1 U Tar faeeu g |
FUYIL : TP T TR FE s Y A |

TWRIT] BY & eI H, Hi iU 70 fadbedl & U Y9 Sugdd 3R &1 90 Bitoig:
(1) HYA-I R FYA-1 S FEl 8

(2) HYF-1 3R FYF-11 1 T &

(3) HYF-1 el 5, dide HYA-11 7Ted &

(4) HYA1 T &, A HYUAI T &

1[Option ID=28965]
2[Option ID=28966]
3[Option ID=28967]
4[Option ID=28968]
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Which of the following statements are correct for computer application?

A Fastest any for CPU to access data is through register
B. OMR stands for optico-magnetic reader

C. System software 1s stored in the ROM

D. OCR stands for online character Reader

E. RAM stores data temporarily

Choose the correct answer from the options given below :
(1) Only A BandC
(2) OnlyA.BandD
(3) OnlyB.CandD
(4) OnlyA. CandE

P T P oy s & T F R EE € 2

A UL 32T S Had de Tl 9 A0SR & [T U SRl |
B. SUHR &1 372 § sMYel-Hafes e

c. Rren greedmR 39 § HusiRa gare |

D. 3R &1 31 § e @igex a3

E. Y9 ST &l 3Tl iR R IEd g |

i f3u U fddedl § O 9gl 3R &1 994 &L
(1) FEAA. B, IR C
(2) FEAA, € 3IRD
(3) HFAB.C ARD
(4) FAAA, C 3IRE

1[Option ID=28969]
2[Option ID=28970]
3[Option ID=28971]
4[Option ID=28972]

Sl. No.74
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Match List-I with List-II

LISTI LISTII
Brihaspati-1T I |Sophia
. Leaming
B.  |Register IL. T T
. |Immersive
Foprinns 1. |Storage
D. |Robotics IV. |Augmented Reality

Choose the correct answer from the options given below :
(1) A-IV. B-IL C-IIL D-I
(2) A-L B-II, C-IV, D-III
(3) A-IL B-III, C-IV. D-I
(4) A-I1. B-IV. C-II. D-III

GHI-1 & 1Y YI-11 DT i Hifor:
T 1 Tt I

A |gewfan L |diftEa

B. [Ifer&R IL | gdeE ot
c |zmfdq eama m  |YUSRo

D |aifes v |dafd - gurf

i T4U 70 faeul § & T8l 3R &1 989 B




(1) A-IV. B-II. C-III. D-I
(2) A-L B-II. C-IV, D-IIT
(3) A-IL B-III. C-IV. D-I
(4) A-L. B-IV. C-1I. D-III
1[Option ID=28973]
2[Option ID=28974]

3[Option ID=28975]
4[Option ID=28976]

Sl. No.75
QBID:10815148450

4

20 & in

The potential difference between A and B will be
1) 4

(2) 5.6

(3) 2.8

(4) 6.0
20 A 30
—y————
FE" 4V N

A 3R B & Heg fayg sfar g
(1) 4

(2) 5.6

(3) 1.8

4) 6.0

1[Option ID=28981]
2[Option ID=28982]
3[Option ID=28983]
4[Option ID=28984]

Sl. No.76
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13.6 €V energy is required to separate a hydrogen atom into a proton and an electron. What will be the velocity of the electron in the
hydrogen atom

(1) 22 = 10%m/s
(2 2.1 % 10%m/s
(3 2.2 % 10%m/s
@) 2.1 x10%m/s

B SIoH TRATY] &1 TS UieH qYl Us Saag B GU& B3+ & 1078 13.6 eV ol $1 Haaaddl ¢ | gEgio WREM] § SadgH &1 ai
T8I 2

(1) 22 x10%m/s
(2) 2.1 x10%m/s
(3 2.2 %« 10%m/s
4 2.1 %10% m/s

1[Option ID=28985]
2[Option ID=28986]
3[Option ID=28987]
4[Option ID=28988]

Sl. No.77
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R

Assertion-A : From among the a-particle. an electron and a proton all having the same kinetic energy, the u-particle has the longest de-
Broglie wave-length.

Reason-R : g-particle is most massive among all the three particles.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 18 NOT the correct explanation of A

(3) Aistrue but R is false

(4) Ais false but R is true

T 31 B 4T MU & TP BT (Assertion A) F =0 H fATET T 1 GOR1 3P BRI (Reason R) F &I H

HUHUF-A : T 0BT, TS UieH 3R TP gaaeH ford! i ol T9H 8 & o-H0 T Jad 931 [S-57dl ail-eed Hfdmas gnn
|

PRULR : 0-HU 57 GH S0 § T 4RI 2 |

SWRIF] BUF & AP 1, Hid [GU U [dF el T J gad el IR $1 994 Ifolu:
(1) ASIRRIA U IRR AP TR AT

(2) A3RREH AR AR R, AP T = T8 &

(3) AGIE AfP-TR 3T
4 AT EAPIRTTR

1[Option ID=28989]
2[Option ID=28990]
3[Option ID=28991]
4[Option ID=28992]

Sl. No.78
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : The capacitance of a capacitor with vacuum between plates 1s lower than that of the capacitor with an insulating material
Reason-R : The electric field due to charged plates in the capacitor induces a net dipole moment in the insulating material.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

A9 31 PYH ST L &: U HNUPHUA (Assertion-A) P &0 T [AIRad g ol gHT 39D HRUI (Reason-R) & &Y H

HiHYH-A : [t el for e gl uigersii & did fHald giar 8 Sae! &1ikar 39 4iRd I &4 §idl ¢ [oHe Ulgd1sil & 7
TRIAYd HRIFIAT 8 |

BRUI-R : HAMRId Ufgeb1si & faeyd &7 & SR WRIdggd 1 Had fgyd gl URa g1 <mars |

SWRIF] BYF & AP H, Hid (U U [d&edl § U ol 3 &1 904 HIoU

(1) ASRREFI IUE SRR AD Tol A= &

(2) A SRR IO E, dfbR. AP Ue! AR el &

(3) AFd e AfPTR TS

(4) ASETR. APTR IS

1[Option ID=28993]
2[Option ID=28994]
3[Option ID=28995]
4[Option ID=28996]

Sl. No.79




QBID:10815148454
Below are statements written with respect to conductivity find the correct statements

A. Metals are highly conductive due to completely filled conduction Band
B. Partially filled conduction band leads to high conduectivity

C. Overlapping of conduction and valence Band causes lower conduction
D. Completely vacant valence band lowers conductivity

E. Partially vacant valence band causes high conductivity

Choose the correct answer from the options given below :
(1) ABandC
(2) B.C.and D
(3) AABandE
(4) B.DandE

IIaddl & e # $o $YF fGu U § | We $YA Fasy |

A, TUfeaT 1R BT 1EH 95 F HRUT YIG3T 31 Iraddr SIi® Bt § |
B. 3fif¥% 1} gU AIeH §US 3= Alaidhdl &1 Ya& oidl 6 |
C. A0 dUS Ud GaIehd] 9US P Sfaaad Iraehd] &1 $H TR adl § |
D. yufaar Rad GaioH aUs ardadl & $F HRal § |
E. 3fifR1% 1R1 g3 YaIoH dUS ITaadl & gerdl

el f3U U fasedl O ¥ T8l 3R &1 994 Difoly

(1) A.B3RC

(2) B.C 3RD

(3) A.B3RE

(4) B.D3IRE

1[Option ID=28997]
2[Option ID=28998]
3[Option ID=28999]
4[Option ID=29000]

Sl. No.80
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Based on the increasing value of x, arrange the following in series

(1 1)
A. Bracket seriecs= Re| ——— |
2 2)

|r 1 1)

B. Pfund series = R¢ L? 2)

<

: (1 ¥}
C.Lyman series = Rp L—j — ? '
X x/
. o G
D. Balmer series= Rc| 377 |
e g _'{H/'
fE i)
E. Paschen series = R, ‘ el |
2 . |
\_r ko a

Choose the correct answer from the options given below :
(1) Paschen. Pfund. Balmer, Brackett, Lyman
(2) Lyman, Paschen, Brackett. Balmer, Pfund
(3) Lyman. Balmer, Paschen, Brackett, Pfund
(4) Pfund, Lyman. Paschen. Balmer, Brackett




x & §¢d 0 1, 49 g &1 owaf@d a1 |

5 ; 01 10
A ¥ gEai= re| -2 |
\2 2)

. A T

B. BUS = Relem—sn]
f@w- Re| 3

£ O - f1 1)
Sl Ri,:z_rlv
LS A S

A fau U famedl § 8 Tl SR &1 =994 Doy
(1) UREH, BUS, TR, Sde, A5
(2) TIEEA. U, S@e, aeR, B
(3) TSH. SR, IR, s@e, BUs

(4) BUg, dIgH-, U, d9leHy, sidd

1[Option ID=29001]
2[Option ID=29002]
3[Option ID=29003]
4[Option ID=29004]

Sl. No.81
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Given below are two statements:
Statement-I : According Newton's corpuscular theory the speed of light 1s relatively greater in rarer medium than in denser medium.
Statement-II : According to Newton's corpuscular theory speed of light 1s greater in glass than in water.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-II are incorrect

(3) Statement-I is correct but Statement-II is incorrect

(4) Statement-I is incorrect but Statement-II 1s correct

R AFERTME
PYA-1 : e B DIIEHR RS B SFHR YBI= B T feet Aes | o AIeEH G gor 4 S erare |

BYF-I1 : G D PIULHER [USId P TR FHIR DI 1T I 1 ga1 § g & e 8 |

JWRIT] Y & AP H, A fU 70 fasedl # ¥ Tad SUg IR &1 94 Bifoiy
(1) BYAI 3R HYA-11 S G&1 &

(2) HYA-I 3R FYA-11 1 T §

(3) HYF-1 el 5. A Y- TEd &

(4) Y17 ©. T Y- TTT &

1[Option ID=29005]
2[Option ID=29006]
3[Option ID=29007]
4[Option ID=29008]

Sl. No.82
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Given below are two statements:

Statement-I : The mass of Jupiter and Earth are 2 x 1027 and 6 * 10%* kg respectively. Their radius are 7 = 107 and 6 * 10% m respectively.
The ratio of escape velocity on Jupiter will be roughly five times that on earth.

Statement-II : The escape velocity v depends on the direction in which the projectile is fired.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement-I and Statement-II are true
(2) Beoth Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

RS pufRume:

DY : §{Uex UG Gud] U8 B SoidH HHT: 2 « 1027 3R 6 « 102* [l A 3 | 3@ Ho01 H: 7 < 107 3R 6 < 100 WX 7 |
SUeR U= elrg= 971 &1 HJUTd Jedi J e gi= 1 g1 |

BHYF-I1 : YTG 7 T O Uiedeed &) Sied o R AR sedrg |

SWRIF] BYF & AP H, Hid (U U [dFedl § I ol 3R &1 904 S
(1) PYI IR PYA.I S G &

(2) Y] IR SYAI T A S

(3) FYF-1 TA B, A Y- 3T ©

(4) TYF-1 3T §. A FYF-I T &

1[Option ID=29009]
2[Option ID=29010]
3[Option ID=29011]
4[Option ID=29012]

Sl. No.83
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An object is placed at 15 cm from a concave mirror with radius of curvature = 40 cm. Below are statements about the image formed.

A Image will be formed in the direction of object
B. Image will be at a distance of 30 em.

C. Magnification m = —4

D. The image will be Real

E. The image will be at a distance of 45 cm.

Choose the correct answer from the options given below :

(1) A.C &E Ouly

(2) A.C&DOaly

(3) A.B&E Only

(4) B.C &D Only

U 9% DI 3add GUUT Y 15 em B gl UR @1 71T | SUUT BT aehdll (A1 40 em § | Widfdd & de A Aa py= G U g |
A vfdfde fde ot faen & 5=
B.uﬁrﬁaa&m‘%s{)cmﬁﬁwafw I
C.&HHE&[111=—4E?[TH
D. Wld(de areaias g
Eﬂﬁﬁaa’ﬁgﬁ 45 cmE;ETﬁ [

=it fag T fomedt # 9 Tel SR &1 99 DY

(1) $ad A, C IRE

(2) $aA A, C3RD

(3) &ad A, B IRE

(4) $FAB, C AR D




1[Option ID=29013]
2[Option ID=29014]
3[Option ID=29015]
4[Option ID=29016]

Sl. No.84
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Given below are two statements:

Statement-I : A 12 kg bomb at rest explodes into 2 pieces of 4 kg and 8 kg. The 4 kg piece has a velocity of 5 ms. Then the velocity of 8

kg piece will be —5/4 ms™

Statement-II : The kinetic energy of 8 kg picce will be 25 1.

In the light of the above statements. choose the correct answer from the options given below :
(1) Beoth Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-IT is false
(4) Statement-I is false but Statement-II is true

S sy fu T e
HYA1: FRRR I 12 5.7, F1UPH T 4 kg IR 8 ke P &I TP ol H BTN 4 kg ThS BT Sms~! § | T4 8 ke ATd ¢HS BT AT G

1

—5/4 ms™

BYA-I : 8 ke ATC CHS DI TS Foll 25 TEAM |

SWRIF BYF & AP 1, Fid [eU U [dFedl T I el 3R &1 904 B
(1) PYIIR IS T

(2) FHUFI AR I ST A 8

(3) FYF-1 TA ©. A Y-I 3T ©

(4) TYF-1 3T §. A FYF-I T &

1[Option ID=29017]
2[Option ID=29018]
3[Option ID=29019]
4[Option ID=29020]
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Cooking is faster in a pressure cooker.

Reason-R : Water boils at a higher temperature under increased pressure.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

1 31 B 4T T & Ud BT (Assertion-A) & & T [ARGd § Al GERT 3UP DRI (Reason-R) b &T T
HUHYF-A: IRR PP T @A A TG |
FRULR : 3fF 6 R IHT 3T a0 R Ieaare |

SIRIad PYF & a 5, 1 fau 7 fawed § § 96! S0 &1 994 Siforg
(1) ASRRIFTTE IRR AT T TS

(2 AMRRIFTTE APTR AT IS TR TRl B

(3) ATIE. AFTR AT

(4) ASTIE. AFIRITTE




1[Option ID=29025]
2[Option ID=29026]
3[Option ID=29027]
4[Option ID=29028]
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The main purpose of basic education scheme is
(1) Universalization of primary education

(2) to voeationalise the education
(3) to fulfill the basic need of persons - through education

(4) to make education compulsory for all

AT e geHT ST 0d Se%d A 2

() Fufaes fRem &1 Ay

() e B TTHIRS G

3) e grRIarn & 9i¥e rawgesdrat &1 g 1

@) fRrem e aft & o sifard s

1[Option ID=29029]
2[Option ID=29030]
3[Option ID=29031]
4[Option ID=29032]
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If a student greets a teacher on teacher’s day. a teacher should :
(1) ignore it
(2) reciprocate the wishes

(3) teel - the student not to waste the time
(4) give the student good scores in test

TR U &M g/ ] e [Gay o [ 9uUTg <ol § ol e S 1 ST 1My |
(1) & 81 &1 91T

(@) I Y ot FeTS 1 91fgY

(3) BT DI YHY 7 TF B B Bl Aliey

(4) BHE I X H 3= G ¢A1 dligy

1[Option ID=29033]
2[Option ID=29034]
3[Option ID=29035]
4[Option ID=29036]
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In a science class. students who ask questions should be

(1) advised to meet after class
(2) encourage the class to discuss the query

(3) encourage to raise query

(4) snub down for asking questions

o 1 P& H. 98 91 S 9% UBd § 9%

(1) A & qTg e Bl % |

(2) g3 B&T1 DI 3 U R [GaR-fGH & B &% |
(3) WY B & oL SHIfgd B

(4) 94 IS & (U 34 i AT 18 |

1[Option ID=29037]
2[Option ID=29038]
3[Option ID=29039]
4[Option ID=29040]
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Environmental Education should be part of science teaching because
(1) It will affect environmental pollution

(2) It will help to preserve the nature for future generation

(3) It will provide job to the teachers

(4) we cannot escape from environment
afaxor e fas e &1 i g Ay e

(1) TE YGIaRU1 HEHUI R UG ST

(2) T8 UDid ol Uiawy o difeai & fore &= S 3@ |
(3) g el &l e & |

(4) 9 UUIaRyl ¥ &4 Tl 9% |

1[Option ID=29041]
2[Option ID=29042]
3[Option ID=29043]
4[Option ID=29044]
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Choose the correct answer from the options given below :
Statement-I : NIEPA is mainly concerned with Educational planning.
Statement-II : NCTE is the regulatory body to set norms and standards of teacher education

In the light of the above statements. choose the correct answer from the options given below :
(1) Beoth Statement-I and Statement-II are true
(2) Beoth Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

e &1 e fRy e &
BU-1 : NIEPA BT T &7 39 9 Qeifore e 98 |

PYA-11 : NCTE 795 &1 & O 90 &= alell (Ha-ad T=I1 g |

SWRIE HY & Tl H, - fau MU fae el O 9 |8l 3R &1 99 Sifey
(1) HYAI AR HYAI S G B

(2) PYAI IR HYAI T AT

(3) FHYF.1TF ©. AT FYF-1 3T ©

(4) THYA.I 3§, A FYF-1 TT ©

1[Option ID=29045]
2[Option ID=29046]
3[Option ID=29047]
4[Option ID=29048]
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Match List-I with List-II

LISTI LIST IT

A Yaspal Committee . |19s5
Report
UNESCO Satellite

B. |directed television II. 1986
progratm

¢ |Bhesiechny m. 1993
system

D. N anon;l policy on v 1961
Education

Choose the correct answer from the options given below :




(1) A-L B-IV. C-III, D-TI
(2) A-II. B-II C-L. D-IV
(3) A-IV. B-II. C-I1. D-ITI
(4) A-IL B-L. C-IV. D-II

eI & 1Y YI-11 B (e Biforg:

T 1 Tt 11
A |TmU@EEARTE | L |1963

UNESCO gRT
B |TeomcdfiERa | m |1986
& &t wriwma

3! FRam o I [1993
D. |I¥g e =ifd V. [1961

g

i feu U f[ds el § O 9gl 3tk &1 994 SIfu:
(1) A-L B-IV, C-III, D-II

(2) A-IL B-IIL C-I, D-IV

(3) A-IV. B-IL. C-1, D-III

(4) A-IIL B-L C-IV, D-II

1[Option ID=29049]

2[Option ID=29050]

3[Option ID=29051]
4[Option ID=29052]
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When a teacher enters the class and observes that students are making noise. What should the teacher do?

A, Start punishing the students

B. Involve them in teaching-learning process through interaction

C. Start teaching them through lecture

D. Introduce the importance of the topic and draw attention of the students
E. Make teaching interesting by using examples, stories as aids

Choose the correct answer from the options given below :
1) A.B.C
(2) B.C.D
3) B.D.E
(4) A.C.E

oid U {2187 & 1 oidT & SR faenfdal o IR e Sadr & | e & o1 o3 91 2

A faenfial &) ger -t =nfeu |

B. faenfilat &1 Rreror siferm witean & ardiand § ard 198y |

C. 3% TRIINU] §RT YT Y[® PR o1 911ey |

D. faenfifal &1 urey axg &1 SUAINIl Sa1Ps, 3o & R0 T S Nd 1 91y |
E. fR1&/01 &1 3a1gRull, Heii-di Ud &0 9l gR1 3 §=F 9MigU |

S fou U foeedl § O U8l SR &1 994 S
(1) A.B.C
2 B.C.D
3) B.D.E
4) A.C.E

1[Option ID=29053]
2[Option ID=29054]
3[Option ID=29055]
4[Option ID=29056]
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Most important work of a teacher is to organize teaching work
Reason-R : The job of a teacher is to take care of children

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 18 NOT the correct explanation of A

(3) Ais correct but R is not correct
(4) A is not correct but R is correct

T 31 B 4T TTE & UP SHTUHUT (Assertion-A) F =0 F IREd 8 0 GIRT IUP BRI (Reason-R) =T H

HfireeE-A - g F1 9a Teayul o1 ¢ R &1 smieH & |
FHRULR : 18/ ST S SHE BT OH G138 |

SWRIK HY & 3Tl o, iU MU [9d el O I Tl Iuged 3R &1 994 Difey
(1) A SRR EHF 9818 SRR AT Uel =T ©

(2) ARRIA T E IFTR AT TS TR T

3) ATEIE AfPTR T TR

(4) ATEI RIS, AR TR ®

1[Option ID=29057]
2[Option ID=29058]
3[Option ID=29059]
4[Option ID=29060]
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For an effective teaching. it is not important for a teacher to
(1) Have comprehensive knowledge about the content

(2) Have the understanding about the audio-visual aids

(3) Have good personality

(4) Have good communication skills

TUTARITER 1801 & R, e e 1 0 onawad 181 §
(1) fowg a% ot fasgd SFeRl @

(2) $o0-2Rd AUl B THH G

(3) 3f=yT oafaried BT

(4) 3fw5 YUV HINI TG

1[Option ID=29061]
2[Option ID=29062]
3[Option ID=29063]
4[Option ID=29064]
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Siblings. parents and teachers are important source of motivation for the children
Reason-R : A good understanding of Education makes us know about ourselves better.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R is not correct
(4) A 1is not correct but R 1s correct




9 41 Py AU TTE & TP SHFUDYT (Assertion-A) & EU H &4 € 0 U1 IHD BRI (Reason-R) & =9 1

HMUPHYA-A : UTS-F8. J1al a1 SR e g=ai & fw gyl IRUTHAG ¢ |
BRUIR : FR141 BT 3131 90 8 o0~ IR H S5k YieH & o0 Je &t © |
SWRIT] DY & el H, A fGy 7Y f[awedi # 4 G99 Sugd IR &1 94 Bifoiy
(1) A SRR EM 98l §. il R. A B Hal ARAT 5

() A SRR 981 8. dfde- R. A B gl ARAT T8l §

(3) AHE €. dfb R WL e

(4) A9El el 6. Alb-1R Wel ©

1[Option ID=29069]
2[Option ID=29070]
3[Option ID=29071]
4[Option ID=29072]
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In order to modify the undesirable behaviour of a student to desirable the most effective method 1s
(1) To punish the student
(2) To bring it to the notice of parents

(3) To find out the reasons for the undesirable behaviour and have a conversation with the student
(4) To ignore it

B & HaATG-10 IGER B aS-1d o9aeR J 950 &1 9gdR RIBT 1T |
(1) B B Holl oAl

(2) Hral U & I3 3 @H1

(3) 3[BT TER BT PR W1 Ud faanelf I a1d ST

(4) &= T Al

1[Option ID=29073]
2[Option ID=29074]
3[Option ID=29075]
4[Option ID=29076]
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Science can be taught

A. through are organized presentation

B. with hands on experience

C. through memorizing formula and concepts
D. without taking examples from environment
E. Oaly in laboratory

(1) A& B Ounly
(2) B & C Ouly
(3) C& D Oaly
(4) D & E Ounly

faqm g gl wwar g

A. TP A UKdPR0 GRT

B. WY 34T D

C. A qU Y1 Pl U1g PRbp
D. [&F11 arararul 9§ 3ererv iGu

E. &dd YAl §
(1) FTAA&B
(2) FFAB & C




() FgAc&D
(4) FTAD&E

1[Option ID=29077]
2[Option ID=29078]
3[Option ID=29079]
4[Option ID=29080]
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The National Literacy Mission started in
(1) 1996

(2) 1988

(3) 1999

(4) 2000

P &R {2 g URH g1 2
(1) 1996

(2) 1988

(3) 1999

(4) 2000

1[Option ID=29081]

2[Option ID=29082]

3[Option ID=29083]
4[Option ID=29084]
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Given below are two statements:
Statement-I : Syllabus and curriculum are one and same thing
Statement-II : Both syllabus and curriculum include the content knowledge

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II is false
(4) Statement-I is false but Statement-II is true

3 @ Py ey e @

HYA-1 - UIGIHH AR UTegdl U A & |

HYA-I1 : TToushH 3R Tregdi aFl | gt fova &1 I S 8l § |
SWRIFd BUF & AP H, Hid U U [dHedl T 9 Hal 3R 1 90 HIoU
(1) FYFI AR I EH I 8

(2) FHYAI SR GH ST §

(3) FYF1 T ¢, AP FYA-11 3T ©

(4) YA AT, AT Y- TT ©

1[Option ID=29085]
2[Option ID=29086]
3[Option ID=29087]
4[Option ID=29088]
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The purpose of establishing Navodaya Vidyalaya is-
(1) To complete 'Sarva Shiksha Abhiyan' in rural areas
(2) To provide good education in rural areas

(3) Check wastage of education in rural areas

(4) To inerease number of schools in rural areas
Taiey fagrerdl o RAfid B BT 35T &

(1)




Tiid 7 5d e s S R S
(2) TMial 7 331 &l wer B
3) Tiial & e $1 gaie g1H & §9H
(4) Tlidl § Wpeil Dl H=1 Pl T

1[Option ID=29089]
2[Option ID=29090]
3[Option ID=29091]
4[Option ID=29092]




